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CONGRUENCE OF TRIANGLES AND
INEQUALITIES IN A TRIANGLE

Solved Examples
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1. In the given figure, Oa = OB and OC = OD.

Which is the criteria to prove

AAOC = ABOD.

D B

A.SAS

B.ASA

C.55S


https://dl.doubtnut.com/l/_pa6NtV4DlPEn

D. NONE OF THESE

Answer: A

0 Watch Video Solution

2. AB is a line segment and line [ is its
perpendicular bisector. If a point P lies on [,

show that P is equidistant from A and B-

o Watch Video Solution



https://dl.doubtnut.com/l/_pa6NtV4DlPEn
https://dl.doubtnut.com/l/_4tO4yy7EkeKE

3. Prove that each angle of an equilateral

triangle is 60°

o Watch Video Solution

4. In an lIsoceless triangle altitude from the

vertex bisects the base.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ty4Y534hzkez
https://dl.doubtnut.com/l/_tj49ZfhKUAML

5. If the altitude from one vertex of a triangle
bisects the opposite side; then the triangle is

isosceless.

o Watch Video Solution

6. If the bisector of the vertical angle of a
triangle bisects the base of the triangle;then

the triangle is iscsceless.

o Watch Video Solution



https://dl.doubtnut.com/l/_bRSNeYQtg8zh
https://dl.doubtnut.com/l/_1RlTBjAqzpjp
https://dl.doubtnut.com/l/_I4okF8GxQ6WX

7. Prove that the perpendiculars drawn from
the vertices of equal angles of an isosceles

triangle to the opposite sides are equal.

o Watch Video Solution

8. If the altitudes from two vertices of a triangle
to the opposite sides are equal, prove that the

triangle is isosceles.

° Watch Video Solution



https://dl.doubtnut.com/l/_I4okF8GxQ6WX
https://dl.doubtnut.com/l/_HKLoC3Q65TOl

9. Prove that the medians of an equilateral

triangle are equal.

o Watch Video Solution

10.If D is the mid-point of the hypotenuse AC

of a right triangle ABC, prove that

1
BD = EAC

° Watch Video Solution



https://dl.doubtnut.com/l/_FwfMh1PS2Vax
https://dl.doubtnut.com/l/_ykEMoZTcugi0

11. If two isosceles triangles have a common
base, prove that the line segment joining their
vertices bisects the common base at right

angles.

° Watch Video Solution

12. AABC is an isosceles triangle with AB = AC.

Side BA is produced to D such that AB = AD.


https://dl.doubtnut.com/l/_I55LF4CtKXFv
https://dl.doubtnut.com/l/_wTZPFjaFU6Wv

Prove that ZBCD is a right angle.

N
=D



https://dl.doubtnut.com/l/_wTZPFjaFU6Wv

¥ \Watch Video Solution ]

13.1n an isosceles AABC with AB = AC,D and E
are point on BC such that BE = CD. Show that

AD = AE.

o Watch Video Solution



https://dl.doubtnut.com/l/_wTZPFjaFU6Wv
https://dl.doubtnut.com/l/_ZLm85zhGAbc2

14. In the given figure, D and E are points on the
side BC of a AABC such that BD = CE and AD =

AE. Show that AABD =~ AACE.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_hEv3rZ3uB9Sl

15. In the given figure, AB=ACand /B = ZC.

Then AABD = AACE by
A

A.SAS

B.ASA

C.55S

D. NONE OF THESE


https://dl.doubtnut.com/l/_AQd6cGuTUYP8

Answer: B

o Watch Video Solution

16. In the given figure, ACDE is an equilateral

triangle on a side CD of a square ABCD. Show


https://dl.doubtnut.com/l/_AQd6cGuTUYP8
https://dl.doubtnut.com/l/_nW9VUj4ClbWg

that AADE =~ ABCE.

A B

E

o Watch Video Solution



https://dl.doubtnut.com/l/_nW9VUj4ClbWg

17. In the given figure,
BA 1 AC and DE 1 DF such that AB = DE

and BF = EC. Show that AABC =~ ADFEF.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_h4wM5LikrtwO

18. In the given figure,
AY | ZY and BY 1 XY such that
AY = 7Y and BY = XY. Prove  that

AB = 7X.

o Watch Video Solution

19.AB is a line segment and P is its midpoint. D

and E are points on the same side of AD such

that /BAD = /ABE and /EPA = /DPB

Show that (i) ADAP = AEBP,


https://dl.doubtnut.com/l/_Q59D478Uqysx
https://dl.doubtnut.com/l/_qr4W0UjbB3uV

o Watch Video Solution

20.P is a point equidistant from two lines | and
m intersecting at a point A, as shown in the

given figure. Show that the line AP bisects tha


https://dl.doubtnut.com/l/_qr4W0UjbB3uV
https://dl.doubtnut.com/l/_Ao6yD1lsFug2

angle between them.

o Watch Video Solution

21. In the given figure, AB is a line segment. P
and Q are points on opposite sides of AB such
that each of them is equidistant from the

points A and B. Show that the line PQ is the


https://dl.doubtnut.com/l/_Ao6yD1lsFug2
https://dl.doubtnut.com/l/_zIg0dB0Uelal

perpendicular bisector of AB.

° Watch Video Solution



https://dl.doubtnut.com/l/_zIg0dB0Uelal

22.In the given figure, ABCD is a quadrilateral in
which AD=BCand /DAB = ZCBA.

Prove that (i) AABD = ABAC,

(i1) BD = AC,

(i) ZABD = /BAC.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_1qRgoAi48bMe

23. In the given figure, AB = AD in
AABD and AC = AFE in
AACFE and /BAD = /EAC. Show that

BC = DE.

° Watch Video Solution



https://dl.doubtnut.com/l/_1qRgoAi48bMe
https://dl.doubtnut.com/l/_ppuZQEtH8eir

24. In the given figure, AABC is right angled
at B such that /BCA = 2/BAC. Show that

hypotenuse AC = 2BC.

o Watch Video Solution



https://dl.doubtnut.com/l/_UgwOMoKS6MKk

25. In the adjoining figure, AD is a median of
AABC. If BL and CM are drawn
perpendiculars on AD and AD produced, prove

that BL = CM.

A

M

o Watch Video Solution



https://dl.doubtnut.com/l/_UgwOMoKS6MKk
https://dl.doubtnut.com/l/_oq6LN4GBYK7B
https://dl.doubtnut.com/l/_vHqAqwk33L4x

26. In the given figure, ABC is a triangle, right
angled at B. If BCDE is a square on side BC and

ACFG is a square on AC, prove that AD = FB.

G



https://dl.doubtnut.com/l/_vHqAqwk33L4x

o Watch Video Solution

27. In the given figure, ABCD is a square, M is
the midpoint of AB and P(Q) | CM meets AD

at P and CB produced at Q. Prove that (i) PA =


https://dl.doubtnut.com/l/_vHqAqwk33L4x
https://dl.doubtnut.com/l/_TYBTNTCT1a2q

QB and (ii) CP = AB + PA.

° Watch Video Solution



https://dl.doubtnut.com/l/_TYBTNTCT1a2q

28. In the given figure, the two sides AB and BC,
and the median AD of AABC are
correspondingly equal to the two sides PQ and
QOR, and the medium PM of APQR. Prove that

AABC =~ APQR.

o Watch Video Solution

29. In the given figure, the bisectors of
4B and ZC of AABC meet at I. |If
IP 1 BC,IQ L. CA and IR | AB, prove

that (i) IP = I() = IR, (ii) I A bisects ZA.


https://dl.doubtnut.com/l/_ZvUEFS60vVPd
https://dl.doubtnut.com/l/_XLnMlYQVpRPa

o Watch Video Solution

30. In the given figure, ABCD is a quadrilateral

and E and F are points on AD and CD

respectively  such  that AB CB,

/ABE = /CBF and /ZEBD = /FBD.


https://dl.doubtnut.com/l/_XLnMlYQVpRPa
https://dl.doubtnut.com/l/_pcq8dfeS7bSd

Prove that BE = BF.

° Watch Video Solution



https://dl.doubtnut.com/l/_pcq8dfeS7bSd
https://dl.doubtnut.com/l/_TrcLRfH2oX5z

31. In a
AABC, if ZA =40° and ZB = 60° then
which side of the triangle is longest and which

is shortest?

° Watch Video Solution

32. Show that in a right angled triangle, the

hypotenuse is the longest side.

° Watch Video Solution



https://dl.doubtnut.com/l/_TrcLRfH2oX5z
https://dl.doubtnut.com/l/_kxoEipQvUOqU

33. Show that the sum of the three altitudes of
a triangle is less than the sum of three sides of

the triangle.

o Watch Video Solution

34. Prove that the perimeter of a triangle is

greater than the sum of its three medians.

o Watch Video Solution



https://dl.doubtnut.com/l/_NbUnSQwKmjt0
https://dl.doubtnut.com/l/_5d7klCJXT70A

35. In the adjoining figure, ABC is a triangle and
D is any point in its interior. Show that

(BD + DC) < (AB+ AC).

o Watch Video Solution

36. In the given figure,

AP 1 QR, PR > P(Q and PQ) = PS. Show


https://dl.doubtnut.com/l/_HOY4ljYxKTAC
https://dl.doubtnut.com/l/_iYnB94aVeK3Z

that AR > AQ.

° Watch Video Solution

37. In the given figure, O is the centre of the

circle and XOY is a diameter. If XZ is any other


https://dl.doubtnut.com/l/_iYnB94aVeK3Z
https://dl.doubtnut.com/l/_jhkgUzNiSeWF

chord, show that XY gt XZ.

Z

l
[
|
X o Y

° Watch Video Solution

38.In AABC(C, if D is any point on the side BC,

show that (AB + BC + AC) > 2AD.


https://dl.doubtnut.com/l/_jhkgUzNiSeWF
https://dl.doubtnut.com/l/_N9wpTSNV7HCw

° Watch Video Solution



https://dl.doubtnut.com/l/_N9wpTSNV7HCw

B D c
39.

In AABC, if AD is the bisector of LA, show

that AB > BD and AC > DC.

° Watch Video Solution

40. In the given figure, AB > AC. If D is any

point on BC, show that AB > AD.


https://dl.doubtnut.com/l/_tvBn1vO27JSw
https://dl.doubtnut.com/l/_q5VCmcH44XMW

B D C

o Watch Video Solution

41.In the given figure, AC > AB and AD is the

bisector of /A. showthat ZADC > ZADB.


https://dl.doubtnut.com/l/_q5VCmcH44XMW
https://dl.doubtnut.com/l/_2CNEwOgSKMip

o Watch Video Solution

42. In the given figure, the sides AB and AC of

AABC have been extended to D and E


https://dl.doubtnut.com/l/_2CNEwOgSKMip
https://dl.doubtnut.com/l/_PCpZ3q3b1B9V

respectively. If x > y,show that AB > AC.

A

o Watch Video Solution



https://dl.doubtnut.com/l/_PCpZ3q3b1B9V

43. In the given figure, Q is a point on the side
SR of APSR such that PQ = PR. Prove that

PS > PQ.

° Watch Video Solution



https://dl.doubtnut.com/l/_qIX89mHnVJFF
https://dl.doubtnut.com/l/_cBQcV59svAfw

1. In the given figure, AB||CD and O is the
midpoint of AD.
Show that (i) AAOB =~ ADOC.

(i) O is the midpoint of BC.

C D

° Watch Video Solution



https://dl.doubtnut.com/l/_cBQcV59svAfw
https://dl.doubtnut.com/l/_m7vgQAMX3tBU

2. In the given figure, AD and BC are equal
perpendicualrs to a line segment AB.

Show that CD bisects AB.

B C
]

-

° Watch Video Solution



https://dl.doubtnut.com/l/_m7vgQAMX3tBU

3.In thg given figure, two parallel lines | and m

are intersected by two parallel lines p and q.

Show that AABC = ACDA.

-+ /
7#0 =t
-
7 -

o Watch Video Solution



https://dl.doubtnut.com/l/_TwKD2mDvO3xK
https://dl.doubtnut.com/l/_j77orjUHICCV

4. AD is an altitude of an isosceles AABC in
which AB = AC.
Show that (i) AD bisects BC,

(ii) AD bisects ZA.

A

° Watch Video Solution



https://dl.doubtnut.com/l/_j77orjUHICCV

5. In the given figure, BE and CF are two equal
altitudes of AABC.
Show that (i) AABE = AACF,

(i1)AB = AC.

° Watch Video Solution



https://dl.doubtnut.com/l/_pp7LnQHDeBNO
https://dl.doubtnut.com/l/_M7VauaJ5nz5X

6. AABC and ADBC are two isosceles
triangles on the same base BC and vertices A
and D are on the same side of BC. If AD is
extended to intersect BC at E, show that

(i) AABD =~ AACD

(i) AABE =~ AACE

(iii) AE bisects ZA as well as ZD

(iv) AE is the perpendicualr bisector of BC.

A



https://dl.doubtnut.com/l/_M7VauaJ5nz5X

o Watch Video Solution

7. In the given figure, if £ = y and AB = CB,

then prove that AE = CD.

° Watch Video Solution



https://dl.doubtnut.com/l/_M7VauaJ5nz5X
https://dl.doubtnut.com/l/_uaX9EMJEfxjs

8.1n the given figure, line | is the bisector of an
angle ZA and B is any point on I. If BP and BQ
are perpendiculars from B to the arms of ZA,
show that

(i) AAPB = AAQB

(i) BP = BQ, i.e, B is equidistant from the arms


https://dl.doubtnut.com/l/_uaX9EMJEfxjs
https://dl.doubtnut.com/l/_JSfaUbhc7zfM

of L A.

° Watch Video Solution

9. In Figure, diagonal AC of a quadrilateral
ABCD bisects the angles A and C' . Prove that

AB = AD and CB = c-


https://dl.doubtnut.com/l/_JSfaUbhc7zfM
https://dl.doubtnut.com/l/_GMYNwBlKhgfi

o Watch Video Solution

10. AABC is a right triangle right angled at A
such that AB = AC and bisector of /C
intersects the side AB at D. Prove that

AC + AD = BC.

o Watch Video Solution

11. In the givne figure, OA = OB and OP = 0Q.

Prove that (i) PX = QX, (ii) AX = BX.


https://dl.doubtnut.com/l/_GMYNwBlKhgfi
https://dl.doubtnut.com/l/_deFi2VZgrRZy
https://dl.doubtnut.com/l/_QOsbILwlgTZA

° Watch Video Solution

12. In the givne figure, ABC is an equilateral

triangle, PQ|| AC and AC is produced to R such


https://dl.doubtnut.com/l/_QOsbILwlgTZA
https://dl.doubtnut.com/l/_4WBTLiXtsfiq

that CR = BP. Prove that QR bisects PC.

A

B P M\
R

° Watch Video Solution

13.In the given figure ABCD is a quadrilateral in
which AB||DC and P is the midpoint of BC. On

producing, AP and DC meet at Q. Prove that


https://dl.doubtnut.com/l/_4WBTLiXtsfiq
https://dl.doubtnut.com/l/_zcSCNLoegfnT

(i)AB = CQ, (i))DQ = DC + AB.

A B

—

P

° Watch Video Solution

14. In the given figure, ABCD is a square and P is

a point inside it such PB = Pd. Prove that CPA is


https://dl.doubtnut.com/l/_zcSCNLoegfnT
https://dl.doubtnut.com/l/_S0WNz9K3GXnn

a straight line.

D ) C

U

R and
= -

A B

o Watch Video Solution

15. In the given figure, O is a point in the

interior of square ABCD such that AOAB is an


https://dl.doubtnut.com/l/_S0WNz9K3GXnn
https://dl.doubtnut.com/l/_Tglw09KMkZBy

equilateral triangle.

° Watch Video Solution

16. In the adjoining figure, X and Y are
respectively two points on equal sides AB and

AC of AABC such that AX = AY. Prove that CX =


https://dl.doubtnut.com/l/_Tglw09KMkZBy
https://dl.doubtnut.com/l/_lMyqn0jt1OkQ

BY.

0 Watch Video Solution

17. In AABC, D is the midpoint of BC. If

DL 1 AB and DM 1 AC such that DL = DM,


https://dl.doubtnut.com/l/_lMyqn0jt1OkQ
https://dl.doubtnut.com/l/_ezwUO1kC93OS

prove that AB = AC.

o Watch Video Solution

18.In AABC, AB = AC and the bisectors of

/B and Z(C meet at a point O. Prove that BO =


https://dl.doubtnut.com/l/_ezwUO1kC93OS
https://dl.doubtnut.com/l/_p2WwQFGxIpIt

CO and the ray AO is the bisector of Z A.

o Watch Video Solution

19. The line segments joining the midpoints M

and N of parallel sides AB and DC respectively


https://dl.doubtnut.com/l/_p2WwQFGxIpIt
https://dl.doubtnut.com/l/_3Djw9qmGpaeZ

of a trapezium ABCD is perpendicular to both

the sides AB and DC. Prove that AD=BC

O Watch Video Solution

20. The bisectors of /B and ZC of an
isosceles triangle with AB = AC intersect
each other at a point O. BO is produced to
meet AC at a point M. Prove that

/ZMOC = LZABC.

° Watch Video Solution



https://dl.doubtnut.com/l/_3Djw9qmGpaeZ
https://dl.doubtnut.com/l/_FJAF2PX9ySrm
https://dl.doubtnut.com/l/_LrZJHVV52lTK

21. The bisectors of /B and ZC of an
isosceles AABC with AB = AC intersect

each other at point O. Show that the exterior

angle adjacent to ZABC'is equal to Z/BOC.

° Watch Video Solution

22. P is a point on the bisector of an angle

/ABC. If the line through P parallel to AB
meets BC at @) , prove that triangle BPQ is

isosceles.

0 Watch Video Solution



https://dl.doubtnut.com/l/_LrZJHVV52lTK
https://dl.doubtnut.com/l/_x8mJpLfLI7m8

23. The image of an object placed at a point A
before a plane mirror LM is seen at the point B
by an observer at D, as shown in the figure.
Prove that the image is as far behind the mirror

as the object is in front of the mirror.

o Watch Video Solution



https://dl.doubtnut.com/l/_x8mJpLfLI7m8
https://dl.doubtnut.com/l/_yxWlBW8Zfz3v
https://dl.doubtnut.com/l/_hONCaPkbXefs

24.In the adjoining figure, explain how one can

find the breadth of the river without crossing it.

o Watch Video Solution

25.1n a AABC, D is the mid point of side AC
1
such that BD = 3 AC Show that ZABC is a

right anlge.



https://dl.doubtnut.com/l/_hONCaPkbXefs
https://dl.doubtnut.com/l/_mAP3qWuIu8dN

\ o Watch Video Solution

26. If two sides and an angle of one triangle are
equal to two sides and an angle of another
triangle , then the two triangles must be

congruent’. Is the statement true? Why?

o Watch Video Solution

27."If two angles and a side of one triangle are
equal to two angles and a side of another

triangle then the two triangle must be


https://dl.doubtnut.com/l/_mAP3qWuIu8dN
https://dl.doubtnut.com/l/_9RNvYcIlQ853
https://dl.doubtnut.com/l/_AFhBIKOfkevS

congruent.”

Is the statement true ? Why?

° Watch Video Solution

1. Is it possible to construct a triangle with

lengths of its sides as given below? Give reason
for your answer. Itbtgt (i) 5cm, 4cm, 9cm
(ii) 8cm, 7 cm, 4cm

(iii) 10 cm, 5 cm, 6cm


https://dl.doubtnut.com/l/_AFhBIKOfkevS
https://dl.doubtnut.com/l/_PgrsWNwt5MBs

(iv) 2.5 cm, 5cm, 7 cm

(v)3cm,4 cm, 8 cm

° Watch Video Solution

2. In AABC,/ZA =50° and ZB = 60°.
Determine the longest and shortest sides of

the triangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_PgrsWNwt5MBs
https://dl.doubtnut.com/l/_6c6xzHkSku7r

3. (i) In AABC,/ZA =90°. Which is its
longest side?
(ii) In AABC, /A = /B = 45°. Which is its
longest side?
(iii) In AABC, /A =100° and ZC = 50°.

Which is its shortest side?

o Watch Video Solution

4.In the given figre, /B < /A and ZC < /D

.Show that AD < BC.


https://dl.doubtnut.com/l/_vVHSHmtaqPO2
https://dl.doubtnut.com/l/_AkkMelvM13F3

° Watch Video Solution

5.In the given figre, /B < /A and /C < /D

.Showthat AD < BC.



https://dl.doubtnut.com/l/_AkkMelvM13F3
https://dl.doubtnut.com/l/_9MHapavaNlkT

‘ o Watch Video Solution

6. AB and CD are respectively the smallest and

largest sides of a quadrilateral ABCD. Show that


https://dl.doubtnut.com/l/_9MHapavaNlkT
https://dl.doubtnut.com/l/_554mnxEG5eoW

/A > /C and /B > /C.

| =


https://dl.doubtnut.com/l/_554mnxEG5eoW

& Watch Video Solution ]

7.1n a quadrilateral ABCD, show that

(AB + BC + CD + DA) > (AC + BD).

° Watch Video Solution

8. In a quadrilateral ABCD, show that

(AB + BC + CD + DA) < 2(BD + AC).

° Watch Video Solution



https://dl.doubtnut.com/l/_554mnxEG5eoW
https://dl.doubtnut.com/l/_w7mUaPAiFXB0
https://dl.doubtnut.com/l/_CjAARKy5Uy1O

9. In AABC, /B = 35°, ZC = 65° and the
bisector of ZBAC meets BC in X. Arrange AX,

BX and CX in descending order.

o Watch Video Solution



https://dl.doubtnut.com/l/_hnJGfb7ELzHY

10. In the given figure, PQ) > PR and QS and
RS are the bisectors of ZQ and ZR

respectively. Show that 5@ > SR.
P

Q R

o Watch Video Solution



https://dl.doubtnut.com/l/_F9jn7BgirFKF

1. D is any point on side AC of aAABC with

AB= AC Showthat CD < BD.

o Watch Video Solution

12. Prove that in a triangle, other then an an
eguilateral triangle, angle opposite the longest

side is greater than 3 of a right angle

o Watch Video Solution



https://dl.doubtnut.com/l/_FO4lgl84mlGi
https://dl.doubtnut.com/l/_aQWah8bYs1IE

13.In the given figure, prove that
() CD + DA + AB > BC

(i CD + DA + AB + BC > 2AC.

D

° Watch Video Solution



https://dl.doubtnut.com/l/_TQfeIJRbUJtS

14. O is any point in the interior of ABC' Prove
that AB + AC > OB + OC
AB+ BC+ CA > 0OA+ 0B+ 0OC

1
OA + 0B +0C > =(AB + BC + CA)

° Watch Video Solution

15. In the given figure,

AD 1 BC and CD > BD. Show that


https://dl.doubtnut.com/l/_TQfeIJRbUJtS
https://dl.doubtnut.com/l/_3ch0PstzxQDH
https://dl.doubtnut.com/l/_d9E5bPRSYOHz

AC > AB.

° Watch Video Solution

16. In the given figure, D is a point on side BC of

a AAB(C' and E is a point such that CD = DE.


https://dl.doubtnut.com/l/_d9E5bPRSYOHz
https://dl.doubtnut.com/l/_LthCV0fFAmcC

Prove that AB + AC > BE.

B

o Watch Video Solution

Multiple Choice Questions Mcq


https://dl.doubtnut.com/l/_LthCV0fFAmcC

1. Which of the following is not a criterion for

congruence of triangles?

A. SSA

B. SAS

C. ASA

D. SSS

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_QfbR5iE1dYNy

2. If AB= QR,BC = PR and CA = PQ,

then

A.AABC ~ APQR

B.ACBA ~ APQR

C.ACAB =~ APQR

D.ABCA =~ APQR

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_FykBiRhlPdsp

3. If AABC = APQR then which of the

following is not true?

A.BC =PQ

B. AC=PR

C.BC=0OR

D.AB = PQ

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Mn1ZcEpII6cp

4. In AABC,AB = AC and /B = 50°.

Then, /A =7?

A.40°

B.50°

C.80°

D.130°

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_3AeBOposaKYN

5. In AABC,BC = AB and /B = 80°.

Then, /A =?

A.50°

B.40°

C.100°

D. 80°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tAJC8JjZa56e

6. In

AABC, £C = LA, BC = 4cm and AC = bem.

Then, AB =?

A.4 cm

B.5cm

C.5acm

D.25cm

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnoD8mC49MPS

7. Two sides of a triangle are of length 4 cm and

2.5 cm. The length of the third side of the

triangle cannot be

A.6cm

B.6.5 cm

C.55am

D.6.3 cm

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_cP4WIL24eQai

8.In AABC,if ZC > /B, then

A.BC > AC

B.AB > AC

C.AB < AC

D.BC < AC

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ajiRswtCzseB

9. It is given that AABC =~ AFDE in which
AB = 5cm,
/B =40°,/ZA = 80° and FD = 5cm.

Then, which of the following is true?

A. /D = 60°
B./E = 60°
C./F =60°
D./D = 80°
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_XvEB9WrrMwaN

10. In AABC,/A = 40° and ZB = 60°.

Then, the longest side of AABC'is

A.BC

B. AC

C. AB

D. cannot be determined

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XvEB9WrrMwaN
https://dl.doubtnut.com/l/_jv6QdlXR8zmU

1. It the given figure, AB > AC. Then, which

of the following is true?

A
i{/
B D C
A.AB < AD
B.AB = AD

C.AB > AD


https://dl.doubtnut.com/l/_DozdukyhXL9A

D. cannot be determined

Answer: C

° Watch Video Solution

12.In the given figure, AB > AC. If BO and CO

are the bisectors of /B and ZC respectively


https://dl.doubtnut.com/l/_DozdukyhXL9A
https://dl.doubtnut.com/l/_ez6uzUtaJp6y

then

A.OB = OC

B.OB > OC

C.OB < OC

D. cannot be determined


https://dl.doubtnut.com/l/_ez6uzUtaJp6y

Answer: B

o Watch Video Solution

13.In the given figre, AB = AC and OB = OC. Then,

LABO:/ZACO =7
A



https://dl.doubtnut.com/l/_ez6uzUtaJp6y
https://dl.doubtnut.com/l/_cYrWYiLPKqf6

Al:1

B.2:1

C.1:2

D. none of these

Answer: A

o Watch Video Solution

14. If the altitudes from two vertices of a
triangle to the opposite sides are equal, prove

that the triangle is isosceles.


https://dl.doubtnut.com/l/_cYrWYiLPKqf6
https://dl.doubtnut.com/l/_u9L4HyABZtds

A. equilateral

B. isosceles

C.scalene

D. right angled

Answer: B

o Watch Video Solution

15.In AABC and ADEF, it is given that AB =
DE and BC = EF. In order that

AABC = ADEF,we must have


https://dl.doubtnut.com/l/_u9L4HyABZtds
https://dl.doubtnut.com/l/_vLxaB7gCULHM

A/A=/D

B./B =/F

C.LC = LF

D. none of these

Answer: B

o Watch Video Solution

16. In AABC and ADEF, it is given that
/B =/F and ZC = ZF, In order that

AABC = ADEF,we must have


https://dl.doubtnut.com/l/_vLxaB7gCULHM
https://dl.doubtnut.com/l/_W7gZ8ZL1dofc

A. AB = DF

B. AC=DE

C.BC=EF

D.L/A = /D

Answer: C

o Watch Video Solution

7. In AABC and APQR , |If AB=AC,
/C=/P and /B = Z@Q, then the two

triangles are


https://dl.doubtnut.com/l/_W7gZ8ZL1dofc
https://dl.doubtnut.com/l/_y9JMkLSg9DjH

A. isosceles but not congruent

B. isosceles and congruent

C. congruent but not isosceles

D. neither congruent nor isosceles

Answer: A

o Watch Video Solution

18. which is true?

A. A triangle can have two right angles.


https://dl.doubtnut.com/l/_y9JMkLSg9DjH
https://dl.doubtnut.com/l/_fhkYnQnmA4xu

B. A triangle can have two obtuse angles.

C. Atriangle can have two acute angles.

D. An exterior angle of a triangle is less than

either of the interior opposite angles.

Answer: C

o Watch Video Solution

19. Fill in the blanks with It or gt

(@) (Sum of any two sides of a triangle)..... (the

third side).


https://dl.doubtnut.com/l/_fhkYnQnmA4xu
https://dl.doubtnut.com/l/_X9UFLl7bxUBq

(b) (Difference of any two sides of a triangle)....
(the third side).

(c) (Sum of three altitudes of a triangle)...(sum
of its three sides).

(d) (Sum of any two sides of a triangle)....(twice
the median to the 3rd side).

(e) (Perimeter of a triangle)...(sum of its three

medians).

o Watch Video Solution

20. Fill in the blanks . (a) Each angle of an

equilateral triangle measures .. (b)


https://dl.doubtnut.com/l/_X9UFLl7bxUBq
https://dl.doubtnut.com/l/_QdNzAdPLjPQQ

Medians of an equilateral triangle are

a right triangle, the hypotenuse is the

° Watch Video Solution



https://dl.doubtnut.com/l/_QdNzAdPLjPQQ

